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University of Ottawa
Professor: Louis Hotte
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Attention: Not all questionnaires are the same. This is questionnaire A. On the answer sheet, you
must indicate the letter of your questionnaire with the course’s number as follows: ECO2143A.
You must answer according to the material seen in this course. Read all answer choices before
choosing your answer. Calculator permitted. GOOD LUCK!

QUESTIONNAIRE A

I. MULTIPLE CHOICE QUESTIONS (2 points each)

NAME AND ID:

II. PROBLEM

Answer within the space provided. Your answers must be accompanied with clear
explanations. Graphs and equations without explanations will not get you far.

1.(20 points) Growth accounting You are given the following data for Hong Kong and Singapore
concerning per capita output, physical capital and human capital in 1960 and 1996. You assume
that the output per capita is given by the following relation:

y = Akαh1−α,

where α = 1/3 and A denotes total factor productivity (TFP).

Year y k h
Hong Kong 1960 2,000 1 1

1996 16,000 4 4
Singapore 1960 2,000 1 1

1996 16,000 8 8

a) (7) For each country, calculate the average yearly growth rates of income per worker, physical
capital and human capital stocks per worker in the 36 years between 1960 and 1996.

Let ŷH and ŷS be the average annual growth rates of income in Hong Kong and
Singapore respectively. Over the 36 years, we have:

2000(1 + ŷH)36 = 16000 ⇒ ŷH = 5.95%

ŷS is the same for Singapore. Using the same mathematical procedure for the
growth rates of physical and human capital, we obtain: k̂H = ĥH = 3.93% and
k̂S = ĥS = 5.95%.

b) (7) Using growth accounting, calculate the average yearly TFP growth in each country.

Growth accounting is a method that allows us to calculate the growth rate of
TFP as a residual as follows:

Â = ŷ − αk̂ − (1− α)ĥ

Hence, we have

ÂH = 5.95− (1/3)3.93− (2/3)3.93 = 2.02%
1



2

ÂS = 5.95− (1/3)5.95− (2/3)5.95 = 0%

c) (7) Compare your results for each country and discuss some implications for the future of each
country.

Comments should roughly be along these lines:

All of the growth in Singapore was due to factor accumulation with no change in
productivity. In contrast, in Hong Kong, productivity accounts for 2.02/5.95=34%
of all the growth over the same period. So even though both have had the same
income growth over the period, it is explained quite differently.
This growth pattern for Singapore is worrisome since factor accumulation is ex-
pected to lead to a reduction in the rate of income growth due to the diminishing
returns of both human and physical capital. Indeed, long-run growth can only be
sustained by productivity growth. This is how some economists explain the slow-
down in growth in the Soviet Union after the 1960s.
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2. (10 points) Creative Destruction Describe the process of “creative destruction” and discuss
its implications for economic growth.

Comments should roughly be along these lines:

Creative destruction describes a situation where a newly created idea renders an ex-
isting one obsolete, that is, it destroys its purpose. In practice, this means that new
products, or cheaper production processes, allows some firms to displace existing
ones.
With competition, there is an endless cycle of new ideas being generated since
it allows new firms to replace existing ones and reap their profits by offering
better or cheaper products to consumers. Some economists believe that long-run
growth, being driven by technological progress, is essentially explained in those
terms.
A potential problem is that existing firms and their workers may try to block the
introduction of new technology if they expect to lose from it. If governments
yield to such pressure, economic growth may grind to a halt. The potential loss
for consumers may be enormous. An important role for the Competition Bureau
of Canada is to keep a watch on firms trying to reduce competition this way.
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3. (15 points) Expectations and government “dogmas”

(a) (8) Gauti B. Eggertsson published an article in 2008 in the American Economic Review en-
titled “Great Expectations and the End of the Depression”. The author explains that presidents
Hoover and Roosevelt had very different “dogmas” regarding the economic policies required to end
the depression of the 1930s. Compare briefly their different dogmas.

Comments should be quite close to the following points:

According to Eggertsson, President Hoover’s dogmas can be summarized by the
following three points: (i) Keep the gold standard (keep inflation low); (ii) Bal-
ance the government’s budget (no government debt); (iii) Keep the government
small (no public projects). Hoover was determined to balance the budget. He
increased tax rates in the midst of the 1930s depression in order to make up for
lost revenues from lower aggregate output.
President Roosevelt’s dogmas were essentially the opposite: (i) He abolished the
gold standard in order to create expectations of inflation; (ii) He purposefully
increased the government deficit in order to increase government consumption
and investment; (iii) He consequently made the government bigger.

(b) (8) Both presidents ran important deficits during their terms in office. According to Eggerts-
son, explain how differences in the presidents’ dogmas made it such that the deficit under Hoover
did not help stimulate the economy while that of Roosevelt did.

Comments should be quite close to the following points:

According to Eggertsson, president Hoover’s government deficits were NOT
voluntary. He ran deficits because aggregate incomes were decreasing during
the recession, not because of increased government expenditures. This means that
under Hoover, people did not expect government expenditures to increase.
President Roosevelt did the opposite by announcing that he would increase the
government’s deficit through increased government expenditures. This suggests
that people were expecting larger future government expenditures and as a con-
sequence, may have contributed to increased investments today in anticipation of
better profit opportunities.
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